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TAPRATANOEE e e i

Part - III
ydeflwied / SCIENCE

(58P wHDID <9paidle eufl / Tamil & English Version)

[ Qurss LD@DQLJG&M&;G?T : 75

STe jara : 2Y2 wenfl GBI ]
[ Maximum Marks : 75

Time Allowed : 2% Hours ]

SMleyemrsst : (1) maFF eamésEnd sAwrs wiFa’s uHeurd 2 eTeTSM 6TELISEm e
' sfurisgs Qsmdararajb. sissuufele Gompulmldea Siamps
seasresliumerild 2 L angwirs Qgfelssa|.
2) Beod <@g sSmUY e@wbulamer wWLEBGEW GT(PIeUSMHGLD
<l G5y HusHEGSD LweTUBES CeuaBD. UL BIGET cUaNTEUSM (&)
Quenéled LWGTLHSSELD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

Gl : @ealamsgrer epetn) Wflejsamand CamerTg.
Note : This question paper contains three sections.
9fey - I/ SECTION -1
(LD@LIQLIG&N&SG'IT : 15) / (Marks : 15)
ooy : () @Qudflele o erer 15 aflamés@rsEL el wallssa. 15x1=15

(i) <@oLlys ghlulaer Qasr@ssuulBerer wrHm e saia
Blsa|b sflwner efenLamws CoMHASHSS er(psai.

Note : (i) Answer all the 15 questions.
(i) Choose the correct answer from the alternatives given in the brackets.

[ Smliys / Turn over
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1. &uerereupmer LmpbuAwg samen AT gl ool ?
(wrugyl wrHPHL QeuwiulL bsel,
HSTedle WyLgn rHPD AelutiulL gaser,
Gameéd Qadealiey L@ LTHHLD QewiwiulLeal,
LTelg s QEaedld WLFLEN WLIHOHLD Qewtiul_Lenal.)
Which of the following is inheritable ?
(an altered gene in sperm,
an altered gene in liver cells,

an altered gene in skin cells,

an altered gene in udder cells.)

E(peTereupMIET LITLDLIGHT Grmis SiOTSS Tgl ?
@i Grmi, afGomdewm)

ereditary disease ?

(reofBlwim, Laje Gaonur®,

Which one of the following is not a h

(Thalassemia, Down’s syndrome, Alzheimer’s disease, Haemophilia)

3. ganbheul- prﬂbuasc'rr eresTLIENaY :
(o_emri&s) BILDL|&ET, BWEE BrbLse, seoliL] Broysar, epeaGur® Qe
QepenTHEIETaTENG )

Spinal nerves aré ____——

motor nerves, mixed nerves, innervating the brain)

(Sensory nerves;

24,5 LIIENS!.

4.  smaypo e, G
(Sang, safl, HH2TET, Quflsmiriy)
During post fertilization, the ovule changes into a/an

(seed, fruit, endosperm, pericarp)
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ordls o areladr  upseerl Lwearu@Bs miFsmss HP&EDG).
(Qaut_@id upser, GamarL LDSET, (D6 el eIl LH&eT, 196 sepLeumiiu
LIH&ET)

teeth to tear flesh.

Carnivorous animals use

(incisors, canines, premolars, molars)

Lshgrarhseie sramuu@L ‘e ey o HUGHS QpmiDeTeraser
oramr oP&HELILHSDS-
(enwol_GLmaememmgfw, LsEsENED, erarGLrlerts cuama, 2 L&)

of green plants are called ‘factories of food production’.

(Mitochondria, Chloroplasts, Endoplasmic Reticulum, Nucleus)

QuIEESTEDS HamHLIGEE6LD.
(209 OSADTED, LEDE leFa, > 1AM e, QULGrreilwibd)

Find the odd one out.

(bio-alcohol, green diesel, bio-ethers, petroleum)

9fers Hevaan + Yflms sa &b =
(2_6ienind ETFD, Fiplos GaFaem, GSTHED, AMATSZID)
Dispersed medium + Dispersion medium=

(True Solution, Colloidal Solution, Suspension, All)

[ Hmuys / Turn over
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" 41"“‘”,'[ ‘ﬂ)'l‘ ('/ . ’ ’ ’
4 W v uif | s 4 " ¢ 4 s 2 & -
PL2eylwmmn Congunb mGomenyy &is swysismes
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v
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o
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Gy 01t
LIl — PGy v amgwinss o sEmss

( . " L4 £ ' 2 &

(Gaverenan, wa@paeir, Aoy, i)

When aqueous solution of Silver Nitrate and Sodium Chloride are mixed
precipitate is immediately formed,

(white, yellow, red, blue)

10. —flensnpgd Celwd uweauBEngy.

(umialimiby, 6re.@, GCaallmby, Hésd er..5)
o is used in making electromagnets.

(Pig, iron, Steel, Wrought iron, Nickel steel)

11. & GLreangaflen eflenanGewe QAzmes.
. y
(—OH, —CHO, >C=0, —COOH)
is the functional group of ketones.

(—OH, —CHO, >C=0, —COOH)

12. @it gofl @ créTLg GO

(365.25 X 24 X 60 X 60X 3 X 108 15, 60X 60X 3X10° 18, 1x24x60X60X3%108 15,

360 X 24 X 60 X 60 X 3 X 108 15)
One light year is equal to
(365.25x24x60><60x3x108m, 60 % 60 X 3% 10%m, 1% 24 X 60 X 60 X3 X10%m,

360 X 24 X 60 X 60 X 3 X 10%m)



13.

14.

15.

5 1630
‘G’ -@ein era WAL :

) x 1011 2k o2 -
(6 673 X 10 Nm kg , 6.673x10-11 NmEkg—Z’ 6.673 X 1011 Nm—zkg"z,
6.673 X 10~ 11 Nm2Zkg?)

The value of ‘G’ is :

11 2 -2 =
(6.673X10°° Nm<kg™%, 6.673X10-11 Nm2%ko-2, 6,673 x 101 Nm~2kg2,
6.673 x 10~ 11 Nm2kg?)

@ spfid 10 V Blarawpss Ceugur@arar G yearals@pédaLGu 2 C

Nergyn Lsemng B&TEs Aewiul L Geuene wrg| ?

(5],20],02],2])

How much work is done in moving a charge of 2 C across two points having a potential

difference 10 V ?

(5J,20],02],2])

shler umyb WenGam L gar Hevsow wrHHlumLEEGL &mel

erariL(hLd.
(Goumebl_ 18T, b L, Seng wrpdl, Wlem wrpl)

A device that reverses the direction of flow of current through a circuit is called

(Voltmeter, Ammeter, Commutator, Transformer)

[ muys / Turn over
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Slfley - I / SECTION - II
(LHLQuTSET : 40) / (Marks : 40)
GILY : eremeuCuend @mugl alamssense ofloLwailssa. 20x2=40
Note : Answer any twenty questions.

16. 21L& epaé Cewser erdladmbs QuDILIGS e,

Name the sources of somatic stem cells.

17. m®rem Wi eremd Sevri_hls.
() e, UTRWKE QFdelar o U smelenar, si@TLSHen s CLmAeTTesS
Gerssiul (B e eueriliy smuler smpelle uHwulinl Lgrd GpbEgHe.
(i) sOUYSF eremayd Qerp@prLey 2 (heursdl HLULLE CETaTem s smar
Qeuafludl_(HerGererr.

Find out who am L.
(i) Iwasborn when the diploid nucleus of the udder cells injected into the cytoplasm
of the enucleated ovum and implanted into the uterus of the surrogate mother.

(ii) I coined the term vaccine and vaccination for protective inoculation.

18. Gamgl L @L miseer Blrliys.
@) 2uiflg Asmhle muelwe epaob sumildsin’e sGULS &g
TEITE g6 Ppgeler LweTUHSSILILL ).
() eouwifls Asmfemlu wepuied CupLLIGLD Quiratad we
@résCerens Grrenis @GearonésL! LweaubhEng.

Fill in the blanks :
(i) The first vaccine which is produced by Biotechnology was used against

(i) Biotechnologically synthesized is used to cure pernicious anaemia.



19,

21.

22,

7 1630

wGoflwr Gpruder il@dlser wramas 2

What are the symptoms of malaria ?

srrGuryr @eur-N@mulan eremmréd eremer 7 G THHMGW Ueanls@hLen

Q@B T Lwg ?
What is Corpora quadrigemina ? Name the functions associated with it

Qarssiu(Herer UM UMThE UNshEmeTs @Héae.

Draw the given diagram and label the parts.

Cares sTasdld ifsors eluirbAng.

9 & men B lwieney  epeLDd
QeaualCuppliu@eusred Smpreb GPDHS
<jerey AnSer QeueGuONSDS.

(1) () wppid (R) Gran@o &fl. (R) @8 (4) e cflens@dmg).

(A) bHmd (R) @reer(id gfl. gpame (R)peagl (A) -8 afersaseilvena.

2_cwsTeming H(HSS! (A)

snyewTd (R)

(<)
(@) (A) L ®Cw &fl; amme (R) s
() (A) seumy; pamma (R) &fl.
Assertion (A) : In summer, we S
The kidneys expel less urine,
form of sweat.

(a) Both (A) and (R) are true and (R) explains (A).

(b) Both (A) and (R) are true but (R) doesn’t explain (A).
(€)  (A)is true but (R) is false.

(d) (A) is false but (R) is true.

weat more.
since much of water is lost In the

Reason (R)

[ Hmuus / Turn over
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23 Sofrssden Bor Qo g, CEIODG L aunpeg LTsRIE@aTs GHIEED.

Draw the LS. of Kidney and labe] the parts,

24 Hre@ReeE GYdld cump g g Aupmierar sHauewLILEeld HTETHmas

GINTETGY:S

Mention any four adaptations seen in the Camel so that it can live successfully in deserts.

25. e Qsd 2 WAsald &HCmm_ L LGS DG B Haud PenD 6 e
CQumrmBsTs ?

Why diffusion process is not suitable for transportation in multicellular organisms ?

26. L Gavenllsar eremmmred eraan ? Qre® TOSHESTL_HSET (M.

What are Saprophytes ? Give two examples.

27. &G QEr@ésruL_(Herer oar L Pep&GeTTH), Heumber oLy 2 mIlILSmers
565 T(HNSGIEST L6 QUT(HEES.

SOHEMTL 2an_L_(pevm | ww&Garanrsr Ceurger SEVSILL LT '
QL (Hanrentlaer L&emnawid CorGemm Gy
DL (& evoremflaem ammen GLmilw mIgeT an v ach

Match the methods of nutrition of special organs with suitab]le examples,

Autotrophs Mycorrhiza Cuscuta
Parasites Chlorophyll MO_notmpa
Saprophytes Haustoria Hibiscus




28.

29.

30.

31.

32.

1630

arays shdeflenw) Lilgd ey :
P 458 (PODLILGES, 21B®aT DOV Grhlrs
LOGY :
Qufl — Gmed - swualluyss — LmbSE).
Study t ;
y the food chain below, correct it and convert it into a pyramid of energy.

Mulberry — Sparrow — Caterpillar — Kite.

manl_TRer @ BO® IO arflQurpEnéaTean uPWITES smaLUbeg

ey ?
alternative fuel

Why ‘Hydrogen’ is considered to be the best choice among all the

options ?

Qupers ETLD. GQaman LS

&) (mLoLiLl Qup Quers QuarTld GTeTLIgl @I
carmé Warm@LD

51 & T e 6 Cousdagal H& Causors GuUpms HsE
o (HETES®LD.

ol Uig 53, sALTEIST SIDDF SUPTEDT crenuens oM
gred Eflwmen gapilenend oD

tural resource. It can be replaced b
te of consumption by humans.

If it is incorrect, give the

GuhHEETL D
QEls. SUDTS @\wH

renewable resource is a na y natural process

A non-
ter than its ra

at a rate equal to OF fas

ether it is correct or incorrect.

Read this statement and say wh

correct statement.
By cTeueITD Sam(HLo LweTu@sgleliaer ?

i ?
you reuse the waste water 1 your houses ¢

o fisar il s06
How will
9@ yerafiwe QuissD Gremmme ereme ?

What is called Brownian movement ?

[ Hlmliys / Turn over
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33

34.

35.

36.

10
Gamg . @ biman e IANINTNTS.
NN ( II‘ yG0 ' ot ) Y v
Gl wany e 61 (D gyl dhenim’_ ()
ot L|6m8;
dawrion UL
Fill in the blanks :
Solute Solvent Examploe
Solid Smoke
— Solid Cork

Wleraumd sppisatled seuenmd SR Hlbg & mHsIs.

M 2xX@uuy pessmo Blap = el i)

(i) ST.P. -& g eumyaler Gureomi Lgpwer 22.4 Q.8
ldentify and correct the mistake if any :

() 2XRM.M.=V.D.

(i)  The molar volume of gas at STP is 22.4 cm?,

R SMrFdlD mangrrémev® Sweller Qeda; 1.0x10-8 M erafld, 9| HEN
pH w&lli eremer ?
The hydroxide ion concentration of a solution is 1.0x10~8 M. What is the pH of the

solution ?

SssTamib clenand(@her erg HeLOUDTE ? STTERTD Foms.

(i) FeSOy+Mg — MgSO, +Fe

(ii) ZnSO4+Cu — CuSO4+Zn

Which of the following reactions does not take place ? State the reason.
(i) FeSO,+Mg — MgSO, +Fe

(i) ZnSO4+Cu — CuSO,+Zn
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L <O G ‘: . gl . o o . . . v '
37. eV T wl L.LGQONGEG  SOmal v ol n‘go)” ”;m u9 6ot LITSBIGET &l Rr AN

LR M@ conmbeanmen ST G001 1615 6O 6T ;s JaDe LD

o design the body of an aircraft, aluminium alloys are used, Give reasons,

38.  GQan &SI (harar UL $e0S QUETIHSEI LIS senard: GHdsabD.

Draw the given diagram and label the parts,

o

39. e mifliu®ssed : siflos Gairoiisald o drar WenawtiiLser salibenariis
saenld CameiTL_eneu. o
61 Ueerlurens oiemieleeTer 6T ed Ly mens 6T
vkl Heusred q@u@aﬂmgj.

CarHésuulHerer srrard 2 nELLOSSIUSHEU CUTgioTasts o arersT ?
Chemical bonds in organic compounds are covalent in nature.
Covalent bond is formed by the sharing of electrons in the bonding

STIFEVOTLD :

Assertion :

Reason
atoms.

Does the reason satisfy the assertion ?

40. spdlrmwer - 1 HLLCaH Qgriijerw fo Hnauemseiar Quwuisd G

QarhssLL(ReTatar. g ame o QuLisET AMaGWTE Gsr_niduorsma.
QgrLmnfders Hneuamseflen Quursmarl UL gl (Hs.

(ISRO, BARC, NASA, ESA, WHO, ONGC)
List out the names of the organisatioﬁs which are not associated with Chandrayaan - 1

mission from the following :
(ISRO, BARC, NASA, ESA, WHO, ONGC)

[ Slpliys / Turn over
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41.

42.

43.

44.

45.

46.

12

Q® sars cursamiser, oGy HevsGaussddr @Udld G’]&nmlq—@é;@.wmfm.
SHD @ seLLLaID, ATy STEUTEMD TS Goupp> B8
ursasms Bnsseusns 3fa alens (Eg,emeuuu@é]mgﬂ ?

Two similar trucks are moving with the same velocity on a road. One of them is loaded

while the other is empty. Which of the two will require a larger force to stop 1t ?
@@ Wenallatée 240 V Wenaflwpbdlu_er @evaméslill-BeTardl- O eorGeTmLL LD
0.65 A erafle, e eSlensdlen Hmewr wrgl ?

An electric bulb is connected to a 240 V generator. The current is 0.65 A. What is the
power of the bulb ? '

STHOTHOE LILIGTUTL g6 GUFLDLSET Wmrene ?

What are the limitations in harnessing wind energy ?

LSS AB (peens@hé@ @eLCw edrer dsm@uwen WeigemL. WwFHlLenLs

SIS,

Find the effective resistance between A and B in the given circuit,

2Q) 2
A ~—i —VWAA— T B
1) 1Q

Qeanélen Spar GuUEnTILDI. SiSe OGS FaMIS.

Define Power of lens. Give its unit.

AC Benaflupflenw DC WlerafiupHlurs Taleur wrhmemy

How can an AC generator be converted into a DC generator ?
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47. DOl (A : fonvoll i oo
) : PULLLLELD e Bg - Npid Qeuer@armreflud e
DLl w|erar LGy euamamiiseeny 9NmswmLwWE
Qe pg).
STy 6UDTLL :
Tewin (R) @, gofl ordQrrafciQeanre THUOEDG!.

(<21) (A) ipmIb (R) #ifl, (A) -d@ eNurer eferésib (R).
(<2b) (A) HmID (R) &, (A)-G@ (R) sflurer efarésd 0.
(&) (A) seug (R) &,

() (A) Lpmid (R) Grav@n seug.

Assertion (A) When white light is allowed to pass through a prism, it splits

into seven colours.
Reason (R) : This is due to reflection of light.
(a) Both (A) and (R) are correct and (R) explains (A).
(b) Both \(A) and (R) are correct but (R) does not explain (A).
(c) (A) is wrong (R) is correct.

(d) Both (A) and (R) are wrong.

19fley - 111 / SECTION - III

(odiGQuamsdr : 20) / (Marks : 20)

euClaur( LEHID mBHIL RO e oS5l BIEHE NATESEHEES
e waell&sayL. 4x5=20

Ggemauwmen @Laisafled LLLD 6UenTs.
er any four questions by choosing one question from each part.

@My = ()

Note : (i) Answ
Draw diagrams wherever necessary.

L& - 1/ PART -1

18, eLsuml@ smiEsd @hss effleurs cllem&ES-

Explain elaborately about Typhoid fever.
[ Spliys / Turn over
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49.

50.

51.

52,

14

HD <2AeDLDGY BILDL et ev g anan eflané@s.
Explain the Peripheral Nervous System.

UGS - 11 /PART - 11

Qmeisdlenews sreuy aflengullen emiotienLs aSeufl&aaLd.
Describe the structure of a dicot seed.

GITE GOHlee LT &S 6 smsmer oflaflésab.

Explain the components of Pond eco-system

L& - III/ PART - I

oplGrr Seflefler Cloug wmBSTEL LLESTLHADS. Qemq.g,g,eu 69 60 68T & & T 6B
Fwerm(h.
4 C3H5(NO;); — 12C0O,+10 Hy0 +6 N, +0,
W) (8) @ (8 (8
(é\{@mﬁmm C=12, H=1, N=14, O=16)
(=) @FFemTLiged ﬁ]mGU@aJeo‘raJ;bgﬂsﬁ Gurasaflen cramanildans wng ?
() ep Crr flaflsfler
(i) 2 (HEUTET GUITW CLPEDSInMIFHET
(<) @ Guomed eplGrm é]aﬂ&rﬂeoﬂeﬂ@pgj és]sm_&@m eury Curaseflenr

cTaranilEena wirg ?
(@) e Gomed epL Gy feflsfafler pleon wrg ?
Nitroglycerine is used as an explosive. The equation for the explosive reaction is
4 C3H5(N03)3 — 12CO,+10H,0+6 N, +0,-
M (8) m @ @6
(Atomic maés of C=12, H=1, N=14, O=16):
(a) How many moles does the equation show for
(i)  Nitroglycerine ‘
(u) Gas molecules produced ?
(b) How many moles of gas molecules are obtained from 1 mole of nijtr oglycerine ?

What is the mass of 1 mole of nitroglycerine ?

(©)
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53. < Q . . s .
( ) HODSREHAT CTRIMTQ GTEva P QI m@@Q;},&m"L@ (I,

54.

(<) @F SDemsafa }
il ar pussam Hlenp 54 arafleh, coiman peodisam QML

(@)  What are alkynes ? Give an example

(b)  If the molecular mass of n S
. ass of an alkyne i : i
yne is 54, then its molecular formula is

U@S) - IV/PART - IV

=Sl L.Dig‘r]mm B GYG'UTng' 8o _QUW@L.-MiT o drarar. Spdaari. @iphawsaiid
Qavell@m QurHLsEHdEE QeLCuurar s TaiaIrg WIHDHD

SienLSng ?
() A -er fleop @riuurgn Qumregs.
(i) A wHpmbd B -&& QeLGw o_drer Agreraa) @rL-igUmEn Quirepgl.
(i) A wpmbd B @rawmget Bleopud Qriigliumgd Qureps.
(=) ‘g wHmIb ‘G’ -5@ @eLGuwrer Gsr_iy wrg ?
(a) A and B are two objects. What happens to the force between two objects, if :

(i)  the mass of A is doubled.
(ii) the distance between A and B is doubled,

(iii) the masses of both A and B are doubled.

(b) What is the relation between ‘g’ and ‘G ?

(1) Garars phsaiicd gafl crfQrraflgsussmen GO s wrenal ?
(<) GeAlwmgser, eursenisafler LGSEUML 16 QUITBSHUILIHID HETETTIULITES
gear watuREDg ?

(a) Write the sign convention for reflection by spherical mirrors.

(b)  Why convex mirrors are used as rear-view mirrors in vehicles ?

-p0o0-



